Name: 5.3-5.5 Review

(“5.3 Solving Polynomial Equations

Find the real or imaginary solutions of each equation by factoring
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7. The volume V of a shipping container is 240 ft. The width, the length, and the height are x, (x +2),and (x —5)
respectively. What are the dimensions of the container?
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5.4 Dividing Polynomials

Divide using long division.
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Use synthetic division and the given factor to completely factor the polynomial.
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Divide using synthetic division.
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Use synthetic division and the Remainder Theorem to find P{a).
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5.5 Theorems About Roots of Polynomials

Use the Rational Roots Theorem to list all possible rational roots for each equation. Then find any rational roots.
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